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RS 5 E=S a5t HHEH
FF R BT 234 252 486 205
FFHhE—TE 344 434 778 403
FFRBI—TE 256 249 505 236
FFHBI=TE 288 320 608 264
FERRTE T E 698 836 1534 739
FEETRETH 1,206 1,394 2,600 1,155
FFHETRTH 1,357 1,494 2,851 1,129
FFERTETH 535 636 1,171 513
FFHET/\TH 191 198 389 228
IE¥B—TH 187 236 423 222
E¥FET—TH 1,009 1,112 2,121 1,012
F# /O 8T 310 339 649 264
MBI—TH 488 557 1,045 529
MSET—TH 1,481 1,747 3,228 1,445
MSBI=TH 488 527 1,015 420
MKETETH 517 519 1,036 469
/NERT 778 816 1,594 641
/NHET—TH 106 111 217 101
INARTZTH 838 866 1,704 737
/INART=TH 219 230 449 173
M 419 595 1014 519
FMBI—TH 246 247 493 234
FMET=TH 356 360 716 284
5 12 H] 1 1 2 1
S1EETI—TH 443 482 925 403
SERI—TH 375 501 876 425
=30 768 847 1,615 694
= BRHET 326 363 689 296
R HET 358 349 707 298
— & PRET 227 264 491 202
[ A< BT 1,021 1,111 2,132 960
LI BT 1 0 1 1
UERT—TH 344 376 720 310
WEETZ=TH 348 380 728 254
UERT=TH 370 384 754 288
FAERT—TH 276 298 574 273
YRAERT—TH 639 733 1,372 599
PRAERT=TH 191 228 419 186
AR T B 427 422 849 245
EEH 219 186 405 171
EZER—TH 402 466 868 381
EER_TH 299 360 659 202
EER=TH 634 700 1,334 627
EERIMTH 56 67 123 58
{BHAHET 505 35 540 533
BABI—TH 844 945 1,789 832
BARI=TH 1,013 1,298 2,311 1,160
BXRI=TH 560 577 1,137 526
BARETETH 851 888 1,739 863
BXABRTATH 566 591 1,157 559
{BAXBIARTH 365 408 773 435
sth_E HT 344 311 655 367
M EET—TH 222 217 439 298
tHEET=TH 479 455 934 486
M EET=TH 461 520 981 490
st EETEAT B 281 278 559 251
st A BT 3,680 3,808 7,488 3,101
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EEN) 452 467 919 367
RERT—TE 456 456 912 375
RERTZTE 636 746 1,382 602
KEEI=TE 1,243 1,357 2,600 1,174
[KEBTET E 415 438 853 388
RKERTRETH 1,244 1,442 2,686 1,369
E) 4,130 4364 8,494 3,496
WSEH—TH 426 456 882 353
WAREH-TH 598 640 1,238 506
WASEB=TH 1,976 2,154 4,130 1,618
WAEHIETH 1,473 1,666 3,139 1,111
WSEHATH 513 584 1,097 439
(=] 5> BT 423 452 875 380
S HT 229 243 472 214
FHIEHET 361 384 745 306
= FRHT 663 712 1,375 573
#0 H ET 770 789 1,559 615
A EET 269 254 523 240
s AT 701 694 1,395 539
FHET 1,265 1,186 2,451 983
S HRHE 152 160 312 138
NEHFHF—TBH 1,028 1,108 2,136 829
NEHH=-TH 1,230 1,255 2,485 950
NEAH=TH 571 607 1,178 521
FEE—TH 451 502 953 411
FEE-TH 713 791 1,504 592
FEE=TH 609 733 1,342 581
FXBE—TH 844 899 1,743 780
XB&E=-TH 1,221 1,307 2,528 1,094
N$EBRE=TH 1,163 1,247 2,410 1,233
IO E—TH 1,402 1,328 2,730 755
[TOAEH—TH 1,354 1,500 2,854 990
IONAEH=TH 848 903 1,751 518
E2OAEIETH 114 137 251 81
ZOAHATH 549 588 1,137 324
[E2AENRTH 604 616 1,220 353
AHT=E—TH 434 446 880 295
HT=B_TH 580 564 1,144 340
ANHEB—TH 335 336 671 330
RNHEBT—TH 546 570 1,116 427
ANEBT=TH 578 591 1,169 463
ANHBTETH 309 346 655 244
EEE—TH 967 996 1,963 808
EER_—TH 826 839 1,665 811
EER=TH 741 756 1,497 560
EERETH 271 284 555 271
HFMEI—TH 344 347 691 349
EWMEI=TH 366 361 727 274
HEWBEI=TH 289 288 577 229
ERETMNTH 233 210 443 213
EMBETATH 431 437 868 385
ERMBIATH 382 426 808 355
FHAET 2 5 7 4
FHEB—TH 224 232 456 227
FHBI-TH 598 706 1,304 607
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EHEY) E=S a5t
FHAET=TH 161 185 346 139
&7 E—TBH 241 273 514 221
o EZTH 640 707 1,347 591
#x7E=TH 199 228 427 168
FHUE 1 1 2 1
HPHEFHF—TH 24 22 46 42
E=KJII BT 149 167 316 135
= 1R T 219 232 451 195
A FHHET 365 362 727 362
Nl 437 452 889 386
WAEFHE 193 189 382 174
T/ AT—Y—TH 1 1 2 2
THO/AT—V=TH 8 0 8 8
L HT 276 284 560 234
/NEp FH BT 259 294 553 238
T=H 198 213 411 189
L stfr T 357 360 717 315
B LI BT 6 3 9 5
Jt EH pET 179 198 377 170
fit] BT 98 98 196 87
LR ET 109 112 221 94
EIEMAT 124 136 260 117
f238ET 354 372 726 297
A 0 FI BT 134 134 268 116
A SR ET 215 228 443 197
REFHT 185 179 364 175
x=—TH 182 192 374 249
=_"TH 430 548 978 578
E=TH 461 574 1,035 590
F21i0) 91 90 181 83
B FHT 102 120 222 100
EHE—TH 260 305 565 266
EHE-TH 179 190 369 173
AHT 795 871 1,666 807
= FAET 1 0 1 1
EME—TH 469 502 971 474
EMEIZTH 490 523 1,013 557
EMEI=TH 421 436 857 463
LHT 1,824 2,057 3,881 1,734
BN 7 8 15 9
BNER—TH 399 380 779 403
BNERC-TH 764 747 1511 735
ENER=TH 718 605 1,323 538
L HET 1,141 1,245 2,386 1,108
T FHT 797 797 1,594 669
EFFEH—TH 116 147 263 135
FFE—-—TH 325 319 644 323
FFHE=TH 387 425 812 415
/NEFHT 65 84 149 70
gElLUE—TH 571 648 1,219 543
B2l _TH 1,334 1,333 2,667 1,647
BlLE5=TH 1,302 1,441 2,743 1,361
E%IJ.I"E.‘TE 422 491 913 382
&t 89,184 95,337 184,521 80,848
it GLEIADRAZED) 1,398 1,221 2,619 1,553
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